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2H— a2 Efi= | BHW | BT | EESFE | REOE | £
E—R 5 6 1 1 6 3.80 3.80 6
BE-- 7 5 1 1 6 4,00 4,00 5
B 6 6 1 4 3.40 340 14
RE— 6 3 1 1 5 3,20 3200 16
BB 7 1 | 6 3.00- 3.000 17
TG -1 -1 -0.40 040, 29
RF e — 6 5 1 ] 6 3.80 3.80 6
ERR— 4 6 1 1 6 3.60 3600 11
HREE— 7 6 1 1 6 4.20 4.20 3
BEE— -1 1 28
E_R 5 6 1 1 6 3.80 3.80 6
| 1 3 1 1.00 1.oo| 24
BE_ 6 6 ] 1 4 3.60 360, 11
EE 2 1 -1 -1 2 0.60 0.60f 26
BE_ 5 6 1 -1 2 2.60 260 19
= 7 6 1 1 6 4,20 420 3
Ry 5 3 -1 -1 6 2.40 240, 20
85 2 1 -0.60 0.60, 30
HrEE— 7 6 1 6 5.00 500 1
REZ 4 4 -1 3 2.00 200, 21
E=F 5 7 1 1 4 3,60 360, 11
BE= 1 -1 1 4 1100 1.00] 24
= 4 2 1 1.40 140 22
) 6 5 1 1 6 3.80 3.80 6
B 2 2 1 1 1.20 1200 23
i = 6 5 1 1 3.80 3.80 6
fREE= 7 = 1 433 433 2
EE= 2 1 2.80 2.80 18
BE= 1 0.20 020 27
HER= 5 1 1 4 3.40 340 14
i E




